MAP 4175/ 5177 Name:

Test 10

Date: November 6, 2019

Show all work for full credit, and use correct notation. Simplify answers completely.

See other side for additional problems.

1. (10 points) For a double decrement model, q,(cl) = 0.06, q}({z) = 0.19, and q,'c(z) = 0.20.

’(1)_

Determine g,

2. You are given the double decrement table:

1 1 2 2
: TS NI I S N '
55 1000 - 0.20 100 -
56 - 100 - 200 0.25
57 - - - - -
Determine

(a) (10 points) qé?

(b) (10 points) ,q 7




3. (5 points each) Use the L-TAM Standard Service Table to determine

(@) gt

b) g
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